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General Instructions :

(@) All questions are compulsory.

(i)  The question paper consists of 31 questions divided into five sections A, B, C, D and
E. Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and
Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

(iiiy ~ There is no overall choice.

(iv)  Use of calculator is not permitted.

EUsS-37 / SECTION-A

Y T 19 4 T T ol 133F <
Question numbers 1 to 4 carry one mark each.

1 1 T AABC F1 T T, T AB=6.5 cm, LA=60° HXBC+AC=11 cm €| 1
Can you construct a AABC, if AB=6.5 cm, ZA=60°and BC+AC=11 cm.

2#&?%3%@%3%%%%&@@@%@1
14 m ¥ 3R 3% SR Wha] HETE S B |

Calculate the surface area of a hemispherical dome of a temple with radius
14 m to be white washed from outside.
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Find the mean of all factors of 30.

31 -35,36 - 40, 41 - 45 &, T 8 oi-iewrer =1 Frer e 919 i

Find the lower limit of the second class - interval if class - intervals are 31 - 35, 36 - 40,

471 - 45.

TR TEAT 59 10 7 YT o 2 3 ¥ |
Question numbers 5 to 10 carry two marks each.

T H, A O 7 1 = §, LZABO=50° % a8 LZACO=20° , 9 LBOC %t 19 71 Ffqa
A

In the figure, if O is the centre of the circle, ZABO =50° and ZACO =20, find the measure of

ZBOC.

£MOX =135° %1 T4 I FT T T RN H GeHl T, 67.5° 1 1 HIRTT|
Using ZMOX =135°, construct an angle of 67.5° with the help of compass and ruler.

Th TGS A, T H03:3: 1% e ¥ § qen ey o g0 SR RN 1 TG A RIS |

In a quadrilateral, three angles are in the ratio of 3 : 3 : 1 and the fourth angle is 80°. Find the

measure of equal angles.

6 cm YT 9Tl ‘Sl FT BT SR Teh BT ST 747 | TH T R Y IS &% W i |

Two cubes of edge 6 cm are joined to form a cuboid. Find the total surface area of the cuboid.

- E@Ug-9 / SECTION-B
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The marks obtained out of 100 by the students of a class are given in the following table :

Marks 30-40 ]40-50 |50-60 |60-70 |70-80 [80-90

Number of students | 22 28 32 40 20 8
If a student is selected at random, find the probability that he/she is a student who scored less
than 50%.

10 ﬁwa’%ﬁ%aﬁﬁﬁaﬂﬁaﬁwaﬁ%m550%%?%@%%?%%% 2
© S areR R g E ‘ ‘ * ‘
[ | faenteet =t W
THg 247
HS T | 303
THhT FItoshal T HIMTT 15 drghossh &9 I T 741 T feneff
(i) HTeTh! 76T HEa B |
(i) WiTeTeh! weE 7 W &)
To know the opinion of the students about the subject statistics, a survey on 550 students was

conducted. The data recorded is as shown below :
Opinion | Number of students

Like 247

Dislike | 303

Find the probability that a student chosen at random
(i) likes statistics.
(ii) dislikes statistics.

HEUS-H / SECTION-C

T HEA 11 9 18 H WO % 3 3 T
Question numbers 11 to 18 carry three marks each.

11 50 WOl T WTET 80.4 THAT TR | T S H e = R 96 Tl Tt § 69 Te ot ey 4w mem 3
M i |

Mean of 50 observations was found to be 80.4. But later on, it was discovered that 96 was
misread as 69 at one place. Find the correct mean.

e
12 o wlten 7 40 ferenfefl gRo aifsta F7 st 3 e oo Seran IR0 sy, R ot s w3
TIH & IR T et 48 ¥ (8 1 T o )
316,20, 12, 19,1, 95,17, 8,24, 91,5, 19, 14 15,12, 6. 4.5, 5:7,9,26 21,722,719, 15,16, 2.4, 12,14
16,5,9,8,6,15, 18, 25.
Construct a frequency table for the following marks obtained by 40 students in a test using
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equal class intervals, one of them being 4 -8 (8 not included).
3,16,20,12,19,1, 23,17, 8, 24,21, 5,13, 14, 15,12, 6,4, 2,3,7, 9, 26 21, 22,19,15,716. 2,4, 12,14,
16.5.9 8.6 15,18, 05,

APQR ¥ X, #TUR QR &I 0 TR fawifor seam & i QX = %XR%\’I A ar (APQR) =81 cm2 %,
Tl ar (APQX) 10 shifeg |
In APQR, base QR is divided at X such tha'_t OX= %XR If 'ar(APQR)':SI cm?, find ar (APQX).

a“rgéé@ﬁrﬁ, ABCD IR =94 &1 A, B 3T C ¥ 2 S 91T T 99 998 T CD #1 E W
Hfiess w ¥1 firg wifT i AD=AE ¥

o

Bl D e

In the given figure, ABCD is a parallelogram. A circle through A, B and C intersects CD
produced at E. Prove that AD = AE.

e
i A \c

A\

A B

ai@@ABaﬂ?cowW@ﬁqﬁéwommﬁamwaﬁ#ﬁ ZA0D 3R
ZAOC ! T | =& w107 31 WHfgwSH HRT) :

Draw two lines AB and CD such that they intersect at point O and not perpendicular to each
other. Measure ZAOD and £AOC. Bisect the greater angle.

PQRS TF 34 8, foreh foeel e wwiepr w gufgufo o #1 g #ifm f5 PORs w
TEgs

PORS is a quadrilateral whose diagonals bisect each other at right angles. Prove that PQRS is
a rhombus.

U HIGAE 11 Sl T Hifo Sl Yoo T o W9 6 om % @67 R S8R 5 om 2
$HE HAHR 1 T TAE RS Wi a1 SesY TR g% v i @ e s
Construct an isosceles triangle whose two equal sides measure 6 cm each and whose base is 5

cm. Draw the perpendicular bisector of its base and show that it passes through the opposite
vertex.

a@ﬁmmﬁzﬁmaﬁﬁm&’secmxucm%,ﬁtﬁ@_.aa—nzcm'“mréamémmﬂw
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A rectangular sheet of metal foil with dimension 66 cm by 12 cm is rolled to form a cylinder of
height 12 em. Find the volume of the cylinder.

EUE-7 / SECTION-D

T HEA 19 ¥ 28 H Tk & 4 3 T |
Question numbers 19 to 28 carry four marks each.

19 Torelt forw o, amedt At # S Ak fafi ang ot % it %t Hen w1 s A9 fen g = 4
gl H Frefm w1 * g, 1 9051 % -1 o IRaR sy o @it |

g (ao &) | o o e
0-10 14

10-20 28

20-30 35

30-40 A

40-50 14

50-60 7

A survey of the number of people of various age-groups visiting the Diwali mela on a

particular day is given below. Draw a frequency polygon with histogram to represent the

data.

AGE (in years) | NUMBER OF PEOPLE
0-10 14

10-20 28

20-30 35

30-40 21

40-50 14

50-60 7

20 ABC T 9HaTg e B, fSraet o 30 cm &4 yoedf AO, BO 3R CO % Hea-fag P, Q sikR & 4
Stan fe o=t 3 femman 4 ¥1 ar(APQR) 91 Fifeg )
A

B R

ABC is an equilateral triangle with perimeter 30 cm. P, Q and R are mid-points of AO, BO
and CO as shown in figure. Find ar(APQR).

1
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In a triangle ABC, if ZA=60° and the altitudes from B and C meet AC and AB at P and Q
respectively and intersect each other at I. Prove that APIQ and PQOBC are cyclic quadrilaterals.
Hence, find the measure of ~/BIC.

AABC %! Ta1 ST, fS8H AB =4.1 em, ZA =110° 3R BC~ CA =19 em 4
Construct AABCif AB =4.1 cm, ZA =110°%and BC-CA=1.9 em.

PQRS T WHIR =g+ &1 PQ 3R Ps # swwr: foigali A ol B 0% 39 W semn s e
PQ=QA ¥RPS=SB ¥ g FIWL fF A, R 3R B U uve Toar w fiomg ¥

PORS is a parallelogram. PQ and PS are produced to points A and B respectively such that
PQ=QA and PS=SB. Prove that A, R and B lie on a straight line.

Th WK TRt # T AU g v, fe R ) s SRR Semen S o
mﬁﬁﬁm4cm ﬁ?vﬁﬁ 25cm§Tl

(@) 350 WRIERI (fa=nfa)) F FIEAE foamer S 3 o911 A HEaE 1 9e9 T 150 W 1
mza,ﬁwmmm“m|ﬁmﬁﬁéammﬂvﬁ1ﬁuaﬂﬁmmﬁﬁm
ST

(b) 39 de F wefEia gog = &2

In a Govt. school, a teacher organised a competition in which students were asked to use cardboard

for making cylindrical penstands of radius 4 cm and height 25 cm.
(a) To supply the cardboard to the 350 competitors (students), find the cost of cardboard

required, if cost of 1 m2is ¥ 1.50 ? These penstands will be sold and amount so collected, will
be donated to PM Relief Fund.
(b) What value is depicted in this context ?

T W TRS % fes # AR® WY 8 cmx6 cmx5 om ¥ dwe wm HeR
Lem | TR ST H T et el 1 4o T IR, Sl 5 omd wE I T50 § |
The inner dimensions of a closed wooden box are 8 cm by 6 cm by 5 cm. The thickness of the

wood is 1 em. Find the total cost of the wood required to make the box, if 5 cm3 of wood costs
T 50.
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. A lead right circular cone of diameter 8 cm and height 12 ¢cm is melted and recasted into
spherical lead shots each of radius 4 mm. How many lead shots can be made ?

27 wm@ﬁm%wﬁ7m,mwm4.4cmﬁnmaﬁmzm%|wa@q&ﬂa 4
%Weﬂzwamaﬁﬁrqmumwﬁwwnmq%

Find the inner curved surface area and weight of a lead pipe 7 m long, if the external diameter
of the pipe is 4.4 cm and the thickness of the lead is 2 mm and 1 cubic cm of lead weighs 11
grams

28 wmmwﬁﬂ%aﬁaﬁﬁfmmwwﬁﬁwﬁmﬁmmm,4
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(iv)  Ifeemem 500 7 2

A manufacturing company ke
different sizes packed in a week

pt a record of the numbers of Ketchup bottles/pouch of

Pouch Bottle ‘
500 gram | 200 gram 500 gram 1000 gram
200 300 400 200

What is the probability that randomly sold Ketchup is :
(i) abottle of 1/2 kg

(ii) atteast 200 gm bottle

(i)  abottle of 1 kg

at most 500 gm
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